
 

E gCx EGG PCx x

If X is a random variable a and b are

constants then

E ax b a ECx tb

If X and Y are random variables
E Xt7 Ect EG

ax b a'VarCx

Exercise Ic

3 F x 1 Varix 2

a EC8x 8 1 8

5 ECxts EG 3 11 3 4

c Varcxts Vaulx z
d Vardi 3 Vav x 9 2 18

e Var c 2x C 2 War x 4 2 8

f ECW Var k t Cx 2 1 3



5 Ect r Varcx I
a Eckx 4Ect 4h
b E 2 2 ZE 2 quiz
c E 2x 2 2 Ect Z 2x 2

d Varczxtz VarCZx Ivar x

e Va 2 2 Var 2x 22Varcx 462

7
radius 10 1 5 20

Volume 100T 2251T 400 it

PCV u ft Io Io

E X Gx loot t 9 2255 5 400

4625 92I
726.5cm



Exercise ID

1 ECE 2 Vad 32

7 4 6

a Ece 4Ecx 6

EA t6 Ect
4

Ect 2 2

b Var a 42 Varcx
Vara Var X
16
VarCx I 2

16

c
Var x 2

Ksa Tz

y 5 7 9 11

3 x I 2 3 4
P X x 0.3 a b o 2

Given EG 8



0 3 a t b t O Z I

a 5 0.5

ECT O 3 5 tax 7 bx9 to 2 11 8

a t 95 54.3

By Calc as to b go

5 y l O I 4 9
X Z I O l 2

pcx D a b e b a

4 1 15
Given ECT 2 4 P 772 o 4

PCX x I a btc b ta L

za t 2b to I

F e a t O t c t ab t 9A I 2.4

10 a t 45 1 c 2 4



P y z bta o 4

By calc a fo b fo C fo

p 2 3 EY

v
Y I 0 I 4 9

X Z I O l 2

2 3 I I 3 5 7
PCx 4 To Fo Fo Fo To

P 2 3 EY To To tf

classwork and Homework

Ex 1C even numbers

Ex ID even numbers


